BFABEFANLODLXE

1A L #& R
A KR B | BEOLBY

HAREETER TROERREETEE

22 H AR

R xEHEB ANV EFXE

BHEEOER BARTEETEBF T Brh5EHhT

I $ n 4 ﬁ-‘ i AT A4S [ 0 D= 5

IE 0§/ A S e
(Hﬁﬁ'(fﬁﬁ]\)%ﬁﬁ) ﬁ*ﬂi;ﬁﬂmﬁgﬁﬂ%ﬁaﬂbm Eﬂﬁ.\ﬁifﬁ

I$o)*§ﬂ“'%l‘f& A= 4-
(@ @ | HEfE

I = 08B = EE#IEDOEERE
Ya—TFTORIWNAS—EER IMCA500F
(XEHFOHME)
T i ~
(B & 8o SH5E4A1H i SF105%E3A318
% #l = 70.7 %
&N 16,700 M./ A (FithE
(5EEHA%E) 1,102,200 A (FiiAH)
Z #H £ %
INTA—T R /50 7,500 #&
(1-BER) P77 800 %

23,750 M (BithZE)

() IFELSNRDIZHDISAE




A L B &
(Ef: /)
% % AHLBITAR F 5 il (Biik)
BT (Flie & X7 T 23400 [
s - ’
SFI44E1LA 2B (BEIZL DA R 33780
it 57,180 m
HEAT (#AA) 18P # 17 RSB i (Biik)
K i T P A S &S A
KT AR PR G N R A 3T R EEE (e m
2 maxs ¥10 2 mmxs 10
Z HE % = HE %
5| BESXEEH S8 (BiiR) 5| MEXREEH £ (BiiR)
AR 27,200 St 27,000
1| () v~ NT =2 A 53,500 9 | 7==0% NI 7 53,500
it 80,700 3t 80,500
Bk 27,000 & 27,500
2 | () NN NI AR 53,500 10 | () TYARE Y RA (N7 4= Ak 53,500
it 80,500 it 81,000
[ R
3B Y ~HBHE [N Tkt ) 11 NT =2 A
it 3t
FR MNFLEAE ElE
4 | () =k — NT o Ak AHLETE 12 NT = A
it it
[ 16,700 R
5 [aYUET IR INZ 21O 23,750 EHL 13 NT = Rk
it 40,450 it
R EfE R
6 | CF) MG NI A=< AR} | 14 NI F—2 Ak
it it
(R E(E
T (B AUTTF NI x—2 Ak} 3! 15 NI p—2v A}
it it
R R
8 | (R A=FH NT =2 Rk 3] 16 NT =2 2k
it At




